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P O
115°
B
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 38 questions. All questions are compulsory.

(ii)  This question paper is divided into five Sections — A, B, C, D and E.

(iii)  In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs)
and questions number 19 and 20 are Assertion-Reason based questions of
1 mark each. . ‘

(iv) In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

(w) In Section C, Questions no. 26 to 31 are short answer (SA) type
questions, carrying 3 marks each. )

(i) In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

(vii) In Section E, Questions no. 36 to 38 are case study based questions
carrying 4 marks each. Internal choice is provided in 2 marks questions in
each case study.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 2 questions in Section C, 2 questions in
Section D and 3 questions in Section E. 29

(ix) Draw neat diagrams wherever required. Take m = - wherever required,

if not stated.
(x) Use of calculator is not allowed.

SECTION A
This section has 20 Multiple Choice Questions (MCQs) carrying 1 mark each.20x1=20

1. In the given figure, PA is a tangent from an external point P to a circle
with centre O. If £ POB = 115°, then £ APO is equal to:
A

115°

A 28° (B) 65°
(C) 90° (D) 35°

# 3| Page ERF,%? P.T.O.
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2. 20 cm T TR 5 Th ZHS 97[9 crn T ST =7 61 U =19 o FG H HIST T T

el 3 e I ST EIT S 08

A 30°
(B) 60°
©) 90°
D 50°

3. o T S O gl S W ¥, T IThe 30T | SR HEI UG R | 7

@ 4
® 10
© 16
™ 8

4. U I ] O A 6 S 5 om R AT 6 BT 9 BRUEUS FH ahe 20m cm? R |
sqa?rﬁw%:

(A) 10cm
(B) 1lcm
(C) b5cm
(D) 8cm

5, Ax=1aMy=2 MeFrafiorgm2x—-8y+a=0aqq2x+3y—-b=0%Th
%F'f%,'cﬁ:

(A) a=2b
(B) 2a=b
(C) a+2b=0
(D) 2a+b=0

30/1/2 # 4| Page o




2. A piece of wire 20 cm long is bent into the form of an arc of a circle of

radius 60 cm. The angle subtended by the arc at the centre of the circle
i

1S :
(A)
(B)

()

(D) -

30°

- 60°

90°

50°

3. Three numbers in AP have the sum 30. What is its middle term ?

(A) 4
B 10
(C) 16
D) 8
4. An arc of a circle is of length 57 cm and the sector it bounds has an area

of 207 cm?2. Tts radius is :

(A) 10cm
B 1lcm
(C) b5cm
(D) 8cm
5. Ifx = 1 and y = 2 is a solution of the pair of linear equations 2x -3y + a =0
and 2x + 3y — b = 0, then :
(A) a=2b
(B) 2a=b
(C) a+2b=0
(D) 2a+b=0
30/1/2 # 5| Page =28 P.T.O.




6.  H Rumwae 3 agdt i R e d | 5 SR agTal % R Y 1 de s

A) 3 B 5
© 2 (D) 4

7. ?ilﬁ'owB=90°?|‘91Toc=2[3%,?ﬁcoszoc+sin2BER'IER‘%:

A 0
1
(B) 9
¢ 1
D) 2

8. oI 52 weil b e # ¥ AgmAN G U T TR | $6 U o T ol O1 A

AT ST T B T TRIeha @
W =

® =

© 3

® =
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6. Two polynomials are shown in the graph below. The number of distinct

zeroes of both the polynomials is :
y

@ 3 B 5
(O) : D) 4

7. If o+p=90° and o =2p, then cos? a +sin? B is equal to:

A 0
1
(B) )
© 1
(D) 2

8. A card is selected at random from a deck of 52 playing cards. The
probability of it being a red face card is :

@ -
® =
©) -;:

O -2%
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9. zrfé'a?rmﬁ,agqasx2+6x+k%w%‘ama+B+ocﬁ=-—23:%,'cﬁk?:mm%:

@) -8
®) 8
© -4

™ 4

10. tanze‘——( 1 xsecelwm%:

cos 6
(A)
®B O
< -1
D) 2

11 e § & e ot de B aur 5 3 e T e R 2
(A) 1-4142387954012 ....
(B) 2326
) =
(D) 1-857142

12. afe HCF(98, 28) = m a9 LCM(98, 28) = n:, An—TmHARL:

A 0
(B) 28
(C) 98
(D) 198

13. aﬁ@aﬁtﬁwsﬁmﬁﬁaﬁwﬁﬁwéw%ﬁsﬁmm%mmm
T »

(A) 60°
B) 30°
(¢ 120°
(D) 90°
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9. If oo and B are the zeroes of polynomial 3x2 + 6x+k such that
o+p+of=- ~g—,thenthevalue ofkis:
A -8
(B) 8
) -4
D) 4
+ 10. The value ;)f tan? 6 — ( 1 X sec 9] is :
, cos 6
A 1
(B)
© -1
D 2
11. Which of the following is a rational number between V3 and V5 ?
(A)  1-4142387954012....
(B) 2326
© =
(D) 1-857142
12. IfHCF(98, 28) = m and LCM(98, 28) = n, then the valueof n -~ 7m is:
A O '
(B) 28
(C) 98
(D) 198
13. If the length of a chord of a circle is equal to its radius, then the angle
- subtended by chord at the centre is :
(A)  60°
(B) 30°
(C) 120°
D) 90°
30/1/2 # 9| Page 2k P.T.O.




14. T2 Te)-A-a v w70 T 195 PY STRT S T SHAST: 5 qT gATTEAE, B :

A 13
(B) 65
(C) 875

(D) 1750

15, 14 mzﬁr@m@m%mwﬁﬁ%mﬁm@wmm@ 7T mHF RS,

A A S RET 1 34 FNE :
A 15°
B) 30°
(C) 45°
(D) 60°

16, B ABC T DEFH, £ B = /B, ,F=/CAMAB= 3DEZ, el B :
(A) gt § ag Awey e &

(B)  walTed qe §E

(©) Far et ST € weu e

(D) EoEwE T Ea e T

17. el P(- 4,5) T Q4 &) 1 forey et vaTave 1 we-fog R B -

(A) x-IFW
B) y-IEW
©) "Eg™®

(D) 7 x-Fq AT y-A& T
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15.

16.

17.

The greatest number which divides 70 and 125, leaving remainders 5 and

8 respectively, is :

(A)
(B)
(9
(D)

13
65

- 875

1750

A ladder 14 m long leans against a wall. If the foot of the ladder is 7 m

from the wall, then the angle of elevation of the top of the wall is :

(A)
B)
©
(D)

15°
30°
45°
60°

In triangles ABC and DEF, / B=ZE, L/ F = £ C and AB = 3 DE. Then,

the two triangles are :

(A)
(B)
©)
(D)

congruent but not similar
congruent as well as similar
neither congruent nor similar

similar but not congruent

The mid-point of the line segment joining the points P(- 4, 5) and Q(4, 6)

lieson :

(A)
(B)
(®)
(D)

X-axis
y-axis
origin

neither x-axis nor y-axis
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18.  Tapedl atferel & wgieh qT HIEH ShART: 15X I 18 | A1 T ATHE! T I & -

A x

B) 1ix
) 1=
(D) 34x

o T 19 3R 20 arfwwqé-a#awwﬁﬁm?/a?%wﬁqﬂq?ﬁﬁ@ﬁ R
A) ae:rg;y%ﬁaa%(mmaﬁa%mw%/ﬁwﬁ%aﬁwﬁéﬁqwsﬁﬁm (B),
(C) % (D) # @ AT |

(A) e (A) ST (R) 2 e 8 3i e (R), ST (A) it wel e
. FWE

(B) AR (A) S TF (R) T e &, 7 o (R), SifERe (A) 1 TR
ST 7T AT € |

() IR (A) Rl ®, T q (R) T € |
(D) TR (A) TTEd 8, T % (R) ¥ & |

19. 3fIHg (A): ﬁwwﬁwaﬁﬁaﬁﬁeﬁﬁﬁ o Y e &, ar e
T T I BT |

% (R) - - P et e st Et e e S T |

20. ST IA (A): 1ﬁ2owaﬁﬁwﬁﬁﬁm@ma\ﬁsﬁq®w1%|

T (R) : %yﬁasz%af%aq,aﬁP(E):ﬁ,a‘rEwﬁﬁaaméﬁ%l

30/1/2 # 12| Page b




18. Mode and Mean of a data are 156x and 18x, respectively. Then the median
of the data is :

A x

B) 1ix
€ 1%
(D) 34x

Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),

(C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : If we join two hemispheres of same radius along their

bases, then we get a sphere.

Reason (R): Total Surface Area of a sphere of radius r is 37r2.

20.  Assertion (A) : The probability of selecting a number at random from the

numbers 1 to 20 is 1.

Reason (R): For any event E, if P(E) = 1, then E is called a sure event.

30/1/2 # 13| Page 2e P.T.O.
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<o @ue 3 5 o7f g I (VSA) TAR & T T, ford e o 2 A T | 5x2=10

21, TRTETxZ+ax+bFIIF3: 4 3% arqma &, 7 g e 5 12a% = 49b.

22. @aﬁa@mﬁm%%ﬁ% 26 maﬁaﬁmﬁaa@mﬁng@@%la%
S & B fae % 3 figell A 7om B ¥ 3wl 0 10 m & (PA 3T PB 0 W
RG] |mﬁma€rﬁwm®m1

23. () af A ABC ~ A PQR 2 f5@d AB = 6 cm, BC = 4 cm, AC = 8 cm @
PR=6cm%,ﬁ(PQ+QR>a%aaémaﬁrml

FUAT

@) A A, %% = %-g— o7 £ 1= £ 2 3, dremise 6 A PQS ~ATQR.

T
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SECTION B

This section has 8 Very Short Answer (VSA) type questions carrying 2 marks
each. 5x2=10

1f the zeroes of the polynomial x2 + ax + b are in the ratio 3 : 4, then

21.
| prove that 12a2 = 49b.

A person is standing at P outside a circular ground at a distance of 26 m
from the centre of the ground. He found that his distances from the
points A and B on the ground are 10 m (PA and PB are tangents to the

circle). Find the radius of the circular ground.

If A ABC ~ A PQR in which AB =6 ¢m, BC =4 ¢cm, AC =8 cm and
PR = 6 cm, then find the length of (PQ + QR).
OR :

In the given figure, %g = %% and £1=£2, show that

APQS ~ ATQR.
T

30/1/2 15| Page =5 P.T.O.




24. (h) 2ﬁ%’XCOSGO"+ycosO°-i-sin30°——cot45°=5%’,?ﬁx+2y?>ﬁTIﬂ:r3ﬂ‘<T
eI

YT

2 pno
@) tan“ 60 - WWW%Q!

sin2 60° + cos“ 30°

o5, i i e 3 PRI (20, @ 7) ¥ 1 AR 9 G (11, - 9) % e S A 7N
g ST 1042 TS T, A ‘a’ 1/ I T hiisTC |

Lus

s v 7 6 I (SA) TR % 7 &, Ford W % 3 AT E | 6x3=18 |

96. T T Jo TUT Tk ok SR A Bl 4 3 4 T ST & T IR Sl °
2 : 3 T ST &, A1 S ST & A Ft bHC |

27, ifas fom, wm%\srmaﬁwﬁrm?ﬁmaﬁa‘ﬁﬁq@ﬁaﬁwmr@nw%%w
Wﬁmﬂr@?maﬂtmaﬁﬁéwﬁlﬁﬁ%mﬁﬁmaﬁm
144 %, TaTe T <Y Raehi shi G 180 % 3T T shi TR 1 AT 192F | T8
mﬁ%’qﬁﬂﬁmﬁmaum% s g, e Rrgw i it i Teeht
¥ 3 ol gE J1a T |

28, ﬁm@mm@rmiaﬁmmaﬂ%ﬁ@mﬁwwzaﬁﬁuﬁwm
| FHiie |

tan © cot 6
29, Rrghfm s + =1+sec® 0
(?m") 1 6 1"tan® sec 6 cosec

AT

A+cosA gsin A —cos A | 2
%ill%’mﬁﬁ sin =
sin A — cos A smA+cosA  2sinZA-1

(®)
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24, (a) If xcos60°+ycos 0°+sin 30° — cot 45° = 5, then find the value of
X + 2y.

OR

tan2 60°
sin? 60° + cos? 30°

(b) Evaluate :

25. The coordinates of the centre of a circle are (2a, a — 7). Find the value(s)
of ‘@’ if the circle passes through the point (11, — 9) and has diameter
102 units. '

SECTION C

This section has 6 Short Answer (SA) type questions carrying 8 marks each. 6x3=18

26. If the radii of the bases of a cylinder and a cone are in the ratio 3 : 4 and

their heights are in the ratio 2 : 3, find the ratio of their volumes.

27. Three sets of Physics, Chemistry and Mathematics books have to be
stacked in such a way that all the books‘are stored subject-wise and the
height of each stack is the same. The number of Physics books is 144, the
number of Chemistry books is 180 and the number of Mathematics books
is 192. Assuming that the books are of same thickness, determine the
number of stacks of Physics, Chemistry and Mathematics books.

28.  Two dice are thrown at the same time. Determine the probability that the

difference of the numbers on the two dice is 2.

29, (a) Prove that : tan 0 + cot 6 = 1 + sec O cosec 0

1—cot6 1—-tan®

OR

sin A+cosA sinA-—cosA 2

b P that : + B
(b) TV GinA_cosA | sinA+cosA 2sin? A-1

30/1/2 # 17| Page o P.T.O.




30. (%) ‘cﬁTféaTﬁfﬁTﬁ,O@W%@%W-BCD%@CWW@T%I%W%‘

£ BAC + £ ACD = 90°.

T

@ g HRTRE ga ¥ ol o Sds Y ST A () e I B

hs; T HTh SHIVT A LAl & |

31,  oE I I HC e y-31e figatt (5, 6) T (— 1, — 4) 1 T ot veres
1 Fereifore et § | Tiresen foig st wrashitsg 1

@ us Yy

s s 7 4 - (LA) Y T &, o e 5 o | s

32. (%) @WWmCDWWBn,WAE@ﬁgFWW%,W
E ¥ BC T oo 18 foig § | frg IRST 6 DF x EF = FB x FA.
o .
@ AABC ¥, At AD LBC @1 AD2=BDxDC § @ frs Hifve 6

£ BAC = 90°.
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30. (a) In the given figure, O is the centre of the circle and BCD is tangent
to it at C. Prove that £« BAC + £ ACD = 90°.

OR

(b)  Prove that opposite sides of a quadrilateral circumscribing a circle

subtend supplementary angles at the centre of the circle.

31. Find the ratio in which the y-axis divides the line segment joining the
points (5, — 6) and (- 1, — 4). Also find the point of intersection.

SECTION D

This section has 4 Long Answer (LA) type questions carrying 5 marks each.  4x5=20

32. (a) The diagonal BD of a parallelogram ABCD intersects the line
segment AE at the point F, where E is any point on the side BC.
Prove that DF x EF = FB x FA.

OR

(b) In AABC, if AD LBC and ADZ?=BDxDC, then prove that
£ BAC = 90°.

30/1/2 # 19| Page P.T.O.




33.

34.

35.

SreRiRad STETET S U S 6 68 SuMiaa! shi i forstell =T TIT =0T
2| 5 STioRET T ATE QT TEH F1 I :

oI @ud IgTFarel
(g2l 5) Eaktc)

65 — 85 4

85 - 105 o

105 - 125 13

125 — 145 20

145 — 165 14

165 - 185 8

185 - 205 4

frerr 3 @1 BT A T B &, S U 8% AT @uT 9% i S ot €, H
wwrﬁmﬁé&rﬁnsﬁwm%@ TR ST TS €T | FEI, TR 36
mﬁﬁﬁémaﬁﬂ%@aﬁmﬁwﬁmm a3 e SIS T 20 AH
T ST | ST ST o e e e F feRat T e 3 |

(F)  2-3THI 1 T UEAT % 3R] 1 OhT 128 | T 56 S ¥ 36T E, @
ST o T e S § | TEAT 9 T |

3regeT

@) wer fremeff ¥ we wenuden § @ SR oy ¥ fireToR %A 32 3R T
fop | At SE o 2 3t whm ST FRRC BN T TIfoTe ° 4 3o 3T W
3T B, T SUh JTITERT AT TUFHS 253 BICT | 3% g SFT (o § ST
37 T TSI |
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33. The following frequency distribution gives the monthly consumption of

electricity of 68 consumers of a locality. Find the mean and mode of the
data :
Monthly Consumption Number of
(in units) Consumers
65— 85 4
85— 105 5
105 - 125 13
125 — 145 20
145 - 165 14
165 - 185 8
185 — 205 4

34. Vijay invested certain amounts of money in two schemes A and B, which
offer interest at the rate of 8% per annum and 9% per annum,
respectively. He received ¥ 1,860 as the total annual interest. However,
had he interchanged the amounts of investments in the two schemes, he
would have received ¥ 20 more as annual interest. How much money did
he invest in each scheme ?

35. (a) A two-digit number is such that the product of its digits is 12.
When 36 is added to this number, the digits interchange their
places. Find the number.

OR
(b) A student scored a total of 32 marks in class tests in Mathematics
and Science. Had he scored 2 marks less in Science and 4 marks

more in Mathematics, the product of his marks would have been
253. Find his marks in the two subjects.

30/1/2 # 21| Page =i P.T.O.
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wwﬁ3ma&aﬁwwﬁﬁmﬁ§ﬁ?ﬁm%4 HFT Ixd=12

TSRI0T e - 1

36. S T USIE S5 & 76 STERE Siche, SATSS 7 3 S HUE! T TEAT ST © qlieh
et TS S wh | g g & i P Tt @ gEfew, S wE AR AR
e H A T |

: s
k> o . .

ek U SRR ST Y I 3 AT W ST T, St = 35 mm ¥ | TR I
5 STl T ST A off SRR R T, S 10 s Beaave! ¥ i s g,

Wa@W%WW,WﬁW%WW:

() s BeIEUs i el I 1 i | 1

() = ACB I SeTE F1 IS | 1

(i) (F) SIH IS BrSaETe w1 S5k F1d ST | | 2
srora |

(i) (@) SN TS S & AT o e TS FId hiise | 2
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SECTION E

This section has 3 case study based questions carrying 4 marks each. 3Ix4=12
Case Study - 1
26. A brooch is a decorative piece often worn on clothing like jackets, blouses

or dresses to add elegance. Made from precious metals and decorated
with gemstones, brooches come in many shapes and designs.

One such brooch is made with silver wire in the form of a circle with
diameter 35 mm. The wire is also used in making 5 diameters which
divide the circle into 10 equal sectors as shown in the figure.

Based on the above given information, answer the following questions :

@) Find the central angle of each sector. 1
(ii)  Find the length of the arc ACB. 1
(Gii) (a) Find the area of each sector of the brooch. 2
OR
(i) (b)  Find the total length of the silver wire used. 2
30/1/2 # 23| Page BB P.T.O.




» RO STETTA — 2
37. aﬂmq&ﬁm% mﬁ@@m@é%wmsﬁ&ﬁé@@%lwﬁsﬁé
T ST 10 60°W\W,a€aﬁmﬁ$wﬁﬁ%4o et S U ST

%m%ﬁwaﬁﬁwﬁm%sﬁﬁmm@w4wml

h
| B 45° J
’ X D
40 m

A
A E
Wﬁﬁm%mm,ﬁmﬁ%ﬁqﬁ%waﬁ&
@ aﬁCDﬁéﬁéhW%ﬁ‘h’%qﬁﬁ{ﬁBDmaﬁﬁfﬁl
) et E gl BC I A

Gii) () “irseersd st =t CE TR (3 = 173 ARG 2
STE |
(i) (@) ZI%AC:lOOm%,H\TEﬁAEﬁHa?fﬁrQI 2
24| Page %ﬁ
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Case Study - 2

37. Amrita stood near the bage of a lighthouse, gazing up at its towering
height. She measured the angle of elevation to the top and found it to be
60°. Then, she climbed a nearby observation deck, 40 metres higher than
her original position and noticed the. angle of elevation to the top of
lighthouse to be 45°. ‘
B
h
B 45°
D
40 m
\J 60°
A E
Based on the above given information, answer the following questions :
(1) If CD is h metres, find the distance BD in terms of ‘h’. 1
(ii)  Find distance BC in terms of ‘b’ 1
(i) (a) Find the height CE of the lighthouse [Use +/3 = 1-73] 2 n
OR
@ii1)  (b) Find distance AE, if AC = 100 m. 2
30/1/2
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Case Study - 3

38. A school is organizing a charity run to raise funds for a local hospital.
The run is planned as a series of rounds around a track, with each round
being 300 metres. To make the event more challenging and engaging, the
organizers decide to increase the distance of each subsequent round by
50 metres. For example, the second round will be 350 metres, the third
round will be 400 metres and so on. The total number of rounds planned
is 10.

Based on the information given above, answer the following questions :

@) Write the fourth, fifth and sixth term of the Arithmetic Progression
so formed.

(i) Determine the distance of the 8t round.
(ii) (a) Find the total distance run after completing all 10 rounds.

OR

(i) (b) If a runner completes only the first 6 rounds, what is the
total distance run by the runner ?

30/1/2 # 27| Page &




